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Assignment

Sketch the graph of each function.

1)  

  

y = 

 

4

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

2)  

  

y = 

  

−
1
2

 ⋅ 

 

2

  

x

x

y
−6 −4 −2 2 4 6

−20

−18

−16

−14

−12

−10

−8

−6

−4

−2

-1-



©y c2B0w1B3V wKuudtfas DSAolfGtEwDaOrqeb yL1LBCE.n 7 XAYlzls Sr7ihgLhLt3sX FrIelsReLrrvseBdA.y I kM8aYdBeh Bw5ift8hG pI enWf6iZn6ict0ez QA9lDg9epbZrraQ l2B.3 Worksheet by Kuta Software LLC

3)  

  

y = 

  

1
2

 ⋅ 

 

(

 

1
3)

  

x

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

20

4)  

  

y = 

  

1
2

 ⋅ 

 

(

 

1
2 )

   

x − 2

x

y

−4 −2 2 4 6 8

2

4

6

8

10

12

14

16

18

20

-2-



©t a2n0S1u3w 9KLuitQaS 9SAomfjtBwLaXr6er WLCL5Cb.k 7 HAZlalj 5rhiQgmhOtYsH VrTeos8ePrbvne3do.i P KM7ahdZeU AwQiKtAhH 2I VnufniKnViQtneA KAmlHgqe0birIa1 32P.N Worksheet by Kuta Software LLC

5)  

  

y = 

   

1
4

 ⋅ 

 

(

 

1
6)

  

x

 − 1

x

y

−6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

6)  

  

y = 

  

(

 

1
3 )

   

x − 1

 − 1

x

y

−6 −4 −2 2 4 6 8

2

4

6

8

10

12

14

16

18

-3-



©7 c2f0g1l3l qKmu6tmav 4SXoAfRtswOaJrteY yLOLICI.e B LAMlMlf 1rtiEgJhRtLsQ zr0eysIeBrovjeIdc.m W MMZaod5eo Bwwijtuhm JI YncfJiHnPiqt1er FAGlZgIeIbbrEao I2z.f Worksheet by Kuta Software LLC

7)  

  

y = 

  

(

 

1
3)

   

x − 1

 − 2

x

y

−6 −4 −2 2 4 6 8

−2

2

4

6

8

10

12

14

16

18

8)  

  

y = 

  

3

   

x − 1  + 1

x

y

−6 −4 −2 2 4 6 8

2

4

6

8

10

12

14

16

18

20

-4-



©4 b2I05183r gKquAtfa1 tSboXfXtKwWaEr3eK 6LKLFCk.x O CAelklk 5ryi6g0hltssU RrFensFeKrgvJendA.z K pMfaQdCeK vw1i6t4hQ gI JnTfkiJnji6t8e1 9Ahlrgseob8rvaM w2n.V Worksheet by Kuta Software LLC

9)  

  

y = 

  

5 ⋅ 

 

(

 

1
2)

   

x − 2

 + 1

x

y

−4 −2 2 4 6 8

2

4

6

8

10

12

14

16

18

20

10)  

  

y = 

  

5 ⋅ 

 

2

   

x − 2  − 1

x

y

−4 −2 2 4 6 8

2

4

6

8

10

12

14

16

18

-5-



©Y B2b0O1g30 uKzuPt8an ISzovfttEwra0rbeh gLiLYCY.X K gADlPlM oreivgWhrt3sP irKeSsxearxvee2dA.H U WMYaZd8eG zwAiotlh1 WI enKf0i2n0iQthek CANlsgJetb4r8aE K2T.u Worksheet by Kuta Software LLC

11)  

  

y = 

  

4 ⋅ 

 

2

   

x − 1  + 2

x

y

−6 −4 −2 2 4 6 8

2

4

6

8

10

12

14

16

18

20

12)  

  

y = 

  

2 ⋅ 

 

3

   

x + 1  − 1

x

y

−8 −6 −4 −2 2 4 6

2

4

6

8

10

12

14

16

18

-6-



©x r2o0l1d3g 7KKuotsaG 9S1olfztQwBaorCeU xL3LuCA.n a FAVlRlx VrnicgKhlt6s3 LrreEsZeZrUvlemdX.W W bMMaQdYeM swWiLtnhW YI bnifii8nti8tAef zAGlEggehbfrDap f2S.u Worksheet by Kuta Software LLC

Write an equation for each graph.
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Answers to Assignment (ID: 1)
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